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I [ I I 50 118 — 213.4 161 400 LI7 L0124, B84, B 1244815,
HE I (TLI7 L) 605 185 — 176.7 159 240 BEUEKRBEORN WSEBRTEI24 EI19
JLI7 L [BO 128 — 149.9 142 240 B.EI1225,
Em B I 194 — 126.7 109 240 7’|/§7L\§E§f'f>§0)€.'$§%0)|7<]\ WS ER CHE I
j I 60 422 155 — 304.5 275 400 TLEI7 L8%E, BIN164 &1,
ﬁ%‘?ﬁ B 30 159 — 246.4 220 400 TLE7 LARKOBENTLIT7 LB TER
I ] 30 68 — 198.8 174 400 EREEN A -RERTEE.,
_ HIM(TLI7L) 30 124 49 — 242.1 217 320
é‘g;w" ] ET4% 31 — 2055 195 320
B (EERI—X) 5 8 1 — 242.1 217 320
B4 i *80 165 55 —|  268.24] 27300 400 252 |+BEDSEE T S (FATH - 2B A& HhE T804,
’ EX *70 77 - 217.50 400 *EHDHEEF S TATH- B YPEHETI0Z,
on e | ST 30 492 156 — 164.45 167.00 240
BHE Ml 4t 40 190 — 131.00 240
St ET4 539 48 — 287.35|  330.00 400
% EA 45 *80 211 — 273.75 400
EH *70 170 — 235.00 400
ARk |4 EE =F4 9 9 1.00 — —
Al Ei - #EFER 50 29 29 1.00 138 300 ARRESER—5—&,
ER - EFHERR 4 4 1.00 150 300
A2EEE ER-EXER 2 1 2.00 207 300
ER - EF R 1 1 1.00 167 300
e o |EE-EFERE 13 12 1.08 141 300
PR Bt BEE g eviE 7 7 1.00 137 300
cE#E ER-EFER 5 2 2.50 152 300
ERR - EXGERR 3 3 1.00 165 300
pR%E ER - EFERE — — — — —
EIR - R — — — — —
EEF A 190 33 29 — — —
- — AFR 145 137 1.06 219.8 148.75 400
AiRE e L o= 67 67 100 2500] 16125 400
3] 40 36 1.11 135.9 94 200
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Bt E#60 73 58 261.5 400
1RA 4 45890 35 28 206.0 400
Bt E{E60 32 31 133.0 400 ST H290.1/400 A18R1E £254.0/400
BEE 207 191 122.0 240 # ST A186.7/400 SHERIE171.0/400
1XB Yk 54 51 84.0 240 Bt S FH5143.3/320 AHEIE5100.0/320
o 21t 30 30 77.0 240
Ei 124 107 148.0 240 Bt A R1375/240 SHERIEA105.0/240
1RC (=33 28 22 105.0 240
21t 10 10 75.0 240
Ei 105 94 246.5 400
2R 43 24 18 201.0 400
21t 8 7 1775 400
ABTE [—RBEER BE7E—/LE 19 19 74 200 16
AHTE B 7E—ILE (KAR) 15 11 11 — — 1
ABTE |—fBEER LS 9 9 — 130 3
BHIE |—MEHER Fta5 7 7 — 200 1
BATE |—MREXREETR 1 1 — 130 0
cHE [ AR BEE/ER 2 2 — 100 2
DHIE |—R—ZBEARBEE/ER 0 0 — 100 0
EBTE |—HR—ZBEAREE/ER 3 3 — 100 3
1RA 30 37 35 — 200 33
1B 20 38 30 — 200 1
2R 5 3 3 — 200 1
2R 5 0 0 — 200 0
E& 40 147 82 293 400
EHS 40 110 61 289 400
B e 170 392 208 239 400
B 13 6 74 258 400
XAt RR— 20 16 16 262 400
EE s 70 15 12 182 300 8 [AARDBEEZIIFYLUCARIOBESD,
AARR  [feefE 28 28 119 300 30 AN BARRBIEFrLUOCARKIOBRERT,
BiARIE 20 20 110 300 21 |EREREAICIIERESFTEH,
ER#HE 16 10 183 300 2
BAE [HAa#F 15 15 107 300 8
BARE 3 3 108 300 1
ER#HE 3 1 300 0
CAR [Ho#ZF 3 2 300 2
BARE 0 0 0 300 0
ER#HE — — — - -
SAE [HeakF - - — — —
BARE — — — — —
1R HiE—8 50 34 33 66 200 33
15 HiE—8 (REE) 0 0 — 200
2R HiE—8 0 0 — 200
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4536 (BEFE - BHRR) 25 7 5 1.40 — 200 4
HE AR |#% (EEE-65iE) 50 18 18 2 1.00 — 200 18
RS (FRE-55E) 5 4 1.25 — 200 4
1 RA ek 140 117 7 1.65 219 300 LY IKIN) = > <T NAD>I-AIEBIFI-2 DN
SLST(TrT—ILTILET) 157 155 — 2355 300 DEI-ZEHEEL,
£ EES 20 178 19 9.37 157 200 TILWCINERRERIIIFTI—ILDLD,
=iz L2 L TT(TFT—ILY{TILZIT) 308 292 — 124 200 JILSIIE 1RA112.5/300, E65/200.
1RB Bk 20 168 49 343 262.4 300 12XB157.5/300. 24259/200,
YT TT(TFI—IL){TIIT) 276 254 — 208.5 300
2% ek =T4 72 5 14.40 166 200
YL TT(TrI—IL){TIZIT) 128 126 — 102 200
Al ﬁia‘v}ff)’ 60 51 49 1.04 — 200
BEMILAVR 24 24 1.00 — 200
AL EZFvLD 13 12 1.08 — 100
SBEMILAVR 5 5 1.00 — 100
o [EFFrLUD 13 12 1.08 — 200
i AR e EmTLACR 2 2 100 - 200
BRE ﬁﬁT“'—?’(’_L/‘/:)‘ 10 10 1.00 — 200
BEMILAVR 0 0 — — 200
chiE ﬁﬁ?*-?év_vf) 6 6 1.00 — 200
BEEMILAUR 1 1 1.00 — 200
—E5E (FRE) —E 4520 13 11 1.18 148 250 [—E
— B (R F1JZR#30 7 5 1.40 158 250 |20
A [FIAME(ER %530 35 27 130 123 200 3*7');"“351
F1) A (BERE) 9 7 1.29 136 200 | o g
BB (FR) 27 25 7 1.08 85 200 |35
REYE (1) 4 3 4 1.33 117 200
— B4 33 22 1.50 120 200
T—ILERE 1B FRMK 29 17 5 1.71 126 200
REYE 12 9 10 1.33 96 200
— S5 14 7 2.00 131 200
1RC TR 13 11 1.18 120 200
REE 5 3 5 1.67 88 200
—E5E 6 5 1.20 140 200
2R I X 6 3 2.00 131 200
HREE 0 0 3 — 200
ABTEFET «r>'7‘:'}‘y~‘/1 70 7 7 1.00 128 103 150 6 |IREEARIEA I )v 10— ZBE1EA.
TATIVY (REBE) 21 20 1.05 19 |EHE1R. AZE14,
PN o | AT )2 2 1 2.00 — — 150 0
THUTavERE ABREF#% = h=2y5 3 w 18 1
BEIE 4)’7‘:'J-y~‘/1 5 3 1.67 120 100 150 0
TATIVY 7 6 117 0
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1R%EH |45E 25 54 46 1.17 185.8 131 300
Sl G 60 67 60 6 1.12 158.0 110 300
1:52;‘r-‘j3 45 5 85 67 1.27 127.4 91 200
e &+ G 10 66 48 8 1.38 99.0 78 200
vl % = ET 4 26 17 153 1349 111 200
BHRE (g HET4 23 21 9 1.10 112.9 91 200
2% 453 5 88 69 1.28 202.9 165 300
G =T4 53 40 10 1.33 162.7 128 300
AR 45:ESS $&SS 36 19 1.89 170 250 TWA
45EES 25 33 23 17 1.43 125 250 SO—R24E ZER. 228 1%,
BEE #%Ess 15ES 37 16 2.31 170 250
BEMEE 4?%3&8 55 9 6 19 1.50 125 250
cE#E 44,8SS 38 19 2.00 187 250
4SS 9 6 17 1.50 130 250
DEZE 45,8SS 6 2 3.00 195 250
4SS 3 4 1.33 135 250
ABE 2—/\—EK Z2—/N—Eik 49 23 213 75 100 [A-V—BiR (AR T —RIZHREBE T,
S 35 54 42 26 1.29 46 100 38 [EHREFEY R, BEQIT100RHRBE,
BEE 2—/\—EiR LE3 61 28 218 70 100 Y )
BEMEAEY 1 _ 70 46 25 29 1.84 50 100 80 AEIEI:;iWILJ\EEt-‘ﬁE%%%‘i}?
caE Z2—IS—EK 40 13 3.08 70 100 ERERERAIINSEEDAHEST,
i 27 12 24 2.25 50 100
pRiE A—/\—EiR 16 12 1.33 65 100
i 24 15 3 1.60 49 100
1AAR |—HEAR (R 80 20 17 1.18 17
s, TAAR [FERAR (FERH) 33 33 1.00 33
AR F=ERHR ARG [REBEBAS (B 5 8 700 8
1A | — A (BH5E) 6 4 1.50 3
1 $5 (&£R8) 1 #8560 81 52 1.56 169.3 138 250
1 RA 1 8 (BtFE) I #3830 12 12 1.00 250
I 48 (B F8) 12 9 20 1.33 127.2 110 250
I $5 (5t RR) 1 0 0 — 250
1 $5 (£R8) 59 24 2.46 137.0 116 200
RIRE 1RB 1 48 (Bt58) 28 17 1.65 200
I %5 (£58) 5 3 21 1.67 108.6 101 200
I 48 (Bt58) 3 1 9 3.00 200
ok 148 21 12 1.75 153.9 134 200
Es] 6 3 6 2.00 125.0 105 200
3 8 AR |EE 40 20 20 1.00
KERER A B2—FaFIL FEE =& 3 3 00
AR R—/\—3 3 S3CIE30 12 8 1.50 137.0 128 200 10 Am%a)ﬁ#%%ﬂ,riﬁ#ﬁ%ﬁ;ﬁ(izﬂ%ﬁwtwo
=2 2230 14 10 4 1.40 96.0 76 200 18 [3FI ZERIL
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1RA (S 30 27 26 1.04 443210 300 24 | ERERERICITERELESFTIH,
KRB % 1RB |HE EF 12 11 1.09 #2165 300 2 | R—S o B ZER (D& R ELHE £ (2120/200,
2RA Yt 2 2 1.00 300 1
2%B Yt 3 3 1.00 300 2
AR [FO—n\L-RR—Y 35 20 20 1.00 250 16
ABENAR [P O—/\)L RR—Y 8 7 1.14 150 5
BAE |FO—/\)L-RFR—Y 2 2 1.00 250 2
s BEENAD [H A—/\)L RAR—Y 3 3 1.00 150 2
RIRAEAFRE CEE |[Fo—/\L-Rf—Y 7 7 100 250 7
cEENAR|(FO—/NL- RR—Y 1 1 1.00 150 1
DHFE |FO—/\)L-RFR—Y 4 4 1.00 250 3
DEENAR [F A—/\L RTFR—Y 5 5 1.00 150 5
EHER (B BEERIRI0 104 54 1.93 199 360
o EH(FR) 135 11 6 34 1.83 147 360
EHEIR (BHFE) 276 217 1.27 209 360
U (BEER) 4 2 43 2.00 160 360
EHER(FRE) 108 54 2.00 204 360
1 EH(ER) 10 7 37 1.43 160 360
’ FEE R (BHER) 152 122 1.25 218 360
= U (BHEE) 2 1 28 2.00 172 360
NLHIS EHER (FR) 43 14 3.07 210 360
SHER| ﬁ%&(ﬁlﬁﬂ) 1 1 17 1.00 160 360
EHER (BHEE) 94 65 1.45 222 360
F U (BERR) 4 3 20 1.33 182 360
EHER (FR) 38 12 317 201 360
La%R) EH(ER) 1 0 16 — 165 360
EEEIR (BHER) 80 52 1.54 211 360
L (BERR) 4 2 22 2.00 177 360
2—/\—IBE (EEE) Z2—/\—IBE 214 19 — 240 300
KT EH(FRE) 120 99 — 205 300
A—/\—IBE (HtFE) HH 49 13 — 240 300
R (BHEE) 120 21 — 220 300
Z2—/\—1E%h (EEE) 237 29 — 220 300
s N (ERE) 101 — 185 300
1RERA A—N\—EH (B 350 114 - 220 300
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CH# |RFE—8 62 44 1.41 146 141 200
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KEER 8 3 7 2.67 — — 300 6
St (B2FE) 105 20 15 1.33 170 300 HREOBEI—REHREBIXELEHKESD,
ABE [SHREE (HHEE) 1 1 1.00 300 HEI—ADERETHRIESHEI—IND
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BEE SHE (BHRE) 5 3 1.67 200
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ABRE [B#I1% 25 31 — 265.5 245 400
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ZA—1%—J 100 230 35 — 196.0 176 240
BEE |{#1%8 41 — 162.0 153 240
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EAREAEE REIER 4 4 6 1.00 52.9% 34.5% 200 5 | RBEOAREFNATIERFHB/AE,
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REAR [RFIFKR 4 4 1.00 4
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ABZE 40 19 18 1.06 24
5 BHIE 6 6 1.00
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SHHE T 58 (RR) 120 155 66 2.35 238.1 217 300 151
- SHH:EE 1 ¥ (HRA) 9 5 68 1.80 1955 179 300
i SHEH:EE T 55 (BFRR) 22 9 244 — 238 300
oy s SHHEE 1 58 (HERR) 2 0 8 — — 203 300
RETHE SHHE T 55 (B FR) 20 30 2 15.00 239.5 238 300
w1 SHE 1 5 (FF) 7 0 3 - 218.0 216 300
§ SHFHE T 58 (HHEE) 28 2 14.00 259.5 257 300
SHEHE 1 F8 (HHER) 3 0 17 — 232.9 219 300
S 20 86 34 —| 32203 320 400 ERERERICIERHEREZLH.
ax\ S
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RN e | A=/ 70 767 195 — 317.28 295 400
il AL g 110 229 - 266 400
e |[R—/N—4E 20 446 88 — 309.22 285 400
BAE -
Y 30 122 — 252.5 400
ABREBRF 100 321 122 2.63 268.1 246 400 99
ABELF 80 286 124 2.31 293.9 258 400 74
ST FEERIR ET4 39 17 2.29 263.9 241 400 14
BHEEF 60 793 351 2.26 230.9 208 320 58
BHELXF 30 343 111 3.09 230.8 213 320 32
I $5:E1R I#E:EkK- 15 203 57 — 320.6 400 | IHEER|(EKRBEHAIZEEOLD,
1RA ] 70 64 — 271.2 400 36 [#FEEIX.
158 158 55 — 235.8 400 O #E|1:RA 1:%#332.0/400. I 298.4/400. I 263.1/400,
I $E5:E K 70 349 100 — 199.2 240 77 [1xB 13®214.3/240, T 190.5/240, 1 174.0/240,
FRILUERR B 1B 0% 78 — 181.9 240 I %822k 15%206.7/240, 1 195.4/240, 1 185.4/240,
148 86 — 157.5 240 39
I $E5:E K 173 29 — 195.0 240
2K g 35 — 181.8 240
148 48 — 169.1 240
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AR EHEE HEEHEHS5 26 22 1.18 174.1 141 280 22
=P HEEFTO0 50 47 4 1.06 113.8 78 200 51
R, o | EEUEE 29 22 1.32 136.6 106 200 5
RN SHRNRHE BRE REER 45 40 7 1.13 114.4 70 200 1
chiE L 3 1 3.00 — — 200 0
=P 2 2 2 1.00 — — 200 1
—oanss AR 190 440 206 2.14 285.7 254 400
s %E 50 521 168 3.10 2984 268 400
1A 158 75 102 65 1.57 184 250 I FEBIRAICH VT, [ $EESEARE L3148,
0% 47 40 32 1.18 111 200 I $3ERBICH VT, T FEERFE AR E (14,
1 55:8A| 1 48 93 40 2.33 125 200
1RB 148 15 44 17 2.59 183 250
o~ EE] 11 4 23 2.75 — 200
148:%#kB| 1 58 3 1 3.00 —
ok 148 13 3 433 — 200
] =T4 10 1 2 10.00 — 200
148 1 1 1.00 —
2R JIg:] 3 2 1.50 —
1RA XERYEHE 1 prgiit=3 59 52 1.13 — 130 300 | XERE ] |XIEEE L OSKEICEI—XARELERT,
IBSEAE T 30 26 30 — — 95 300 58 [1RAICEEREARZST,
1%B XERYEHE 1 I T 62 48 1.29 — 85 200 |XEHHED |1 RBISEMERERAFAEZED,
FREE XD 30 22 25 — — 68 200 30 |11 RADEHEERIERILIHZERD S5,
IRA SRS T 13 10 1.30 — — 200 XIS T RIEA(E281125/300, 4%H133/300,
XD 3 1 — — — 200 EMEDT 28 ORI &1%89/300,
2B XERYEHE 1 7 5 1.40 — — 200
XIEEED 2 2 — — — 200
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N e 1 ST 030 4 1 = EREBRENARESD,
(1'7 ey SHHE B SHFE B 30 0 —
R) o 4458 0 30 2 —
Y5 B 453 B 30 1 —
SHHEE o 48 1 — 219 300
— SHHEE B 9 — 200 300
RIRAA i o 12 — 177 300
Y5 B 12 — 143 300
S o 80 9 — 210 300
" S B 12 — 185 300
A HAB i o 30 — 159 300
e 5B 20 — 129 300
NZEEM SEEa 103 42 - 225 300
®BEIA  |SHER 26 — 200 300
GE%) [HBEa 25 — 180 300
4 B 8 — 151 300
SHHEE o 53 6 — 209 300
, SHHAEE B 9 — 188 300
&A Y o 17 — 158 300
4 B 11 — 128 300
SHHAEE o 33 6 — 236 300
, SHEAEE B 5 — 201 300
&6 Y o 8 — 180 300
Y B 8 — 153 300
TENVAN a AR EE 4 4 1.00 XEHEZEMAFEDHY,
H#BLAR (AR EE 40 7 7 1.00 IREEIXZBRESL. EBE14,
TNNUANB RNV a 6 6 1.00
NN VA 40 40 25 1.60 308.0 281 400
AIHAA  [SIdnEE VAV ZY:] 47 29 4 1.62 291.3 261 400
TNNUARRB 40 6 2 19 3.00 2434 235 400
NN VA 104 50 2.08 169.0 156 200
WZ I ER BI#AB  [JIdneE 115 31 1 3.71 162.7 150 200
TNNUARRB 14 8 95 1.75 1315 110 200
NN VA 101 61 1.66 175.8 163 200
®“EA  |IIdhEE 124 67 3 1.85 170.3 158 200
TNNUARRB 13 10 74 1.30 142.8 120 200
NN VA 78 45 1.73 166.3 158 200
®EIB  [IdmeE 110 42 1 2.62 160.2 150 200
TNNURRB 5 2 67 250 134.7 117 200
s ARZE 70 3 3 1.00 — — 200
PL*HE BEE 2 2 1.00 - = 200

10




=h T — Pas PSS [
B4 B i R |mmEm|ewss| @um | BL | BRT | BT ma | S %
MGJAS iiﬁ?;:?'{ R 13 5 2.60 300 B
Fa—/\JL 20 20 15 1.33 300 27
ABEAM iﬂﬁiﬁ%’% ga—njL 21 6 3.50 204 300 |#'a—/3L
go—/nN\JL 30 8 5 1 1.60 153 300 36
pemeuEER TS S O N A7 sl 500
. - —/\ .
A BEHIEAM ii@%ﬂz#;%?, 15 37 12 3.08 217 300
£0—n\)L 18 7 10 257 186 300
BHEPM i%ﬁ?%%‘@ 32 12 2.67 230 300
£0—n\)L 15 6 12 2.50 179 300
oans | EBBIER 5 6 3 2.00 — 300
CHEAMG S 5 1 2 5.00 - 300
AFat 64 ;&R 15 76 27 2.81 350.6 330 500 32
GEHF 35 53 20 38 2.65 271.3 238 500 50
ot e . |6EER 20 141 58 243 201.0 176 300 9
BilFh B 6EHFE 30 82 41 71 2.00 1495 126 300 31
cHzt 6 ER 5 35 6 5.83 219.7 202 300 0
6EHE 15 31 9 16 3.44 172.1 190 300 6
BIHAIR [FE FE 38 37 1.03 162.1 — 250 E=E
il 3HLEIL 70 30 29 1.03 187.3 — 250 59
BIHAIR [FE SHEMIL 41 39 1.05 157.1 - 250 |3HLEIIT
BEH Fik SHEMIL 70 24 23 1.04 195.5 — 250 56
R K FE 52 48 1.08 144.3 — 250
ShFEMIL 45 45 1.00 175.2 — 250
s FE 11 8 1.38 1715 — 250
ShEIL 25 25 1.00 190.4 — 250
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